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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

[’ FVOPH’ ]

—— PHO

10

15

20

25

30

35




0.

40

35

30

25

20

Trend plot forP3-2_0

Warning: col ['minFVlraw ,

"minFVOraw' ] lis missing

minFVI
minFVO

Warning: col TcA2raw’,

ETcA2' ]
()

is missing

o ETcAlraw
—  ETcA1
—&— ETcA

0.4

0.6

0.8 1.

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0

00 ~

00 ~

00 ~

00 ~

00 ~

W---—

1500 '

10

31.

31.

30.

30.

29.

29.

28

2

2

1

1

.00

00

Warning: coll ["ECC']

is - missing

X o B~

—@— ECopt
—0— ECI
—0— ECO

[’ PHC' ]

. col

is missing

.51

Warning: coll ['WCperMraw',

"WCperMavg'] |is missing

—@— WCperM

.90 A

.45

.40 ~

.35 A

.30

. 25 A

. 20 A

—o—
+
—0—

minDeltaM
avgDeltaM
stdDeltaM

30 A

28 A

26 A

24

22 -

20 A

. 04 1

.02 1

adjFVOR

.02 ~

. 04

Warning: coll ["adjFVIRraw’,

"adjFVIR", "adjFVORraw' ] is missing

. 65 1

00 000000000000 00O0COCGROIOGNOGIOGIOIEOOONONOGOO i’ OO0 0000000000000 0 0 0 ¢

FRA
FRC
FRraw
FR

60

58 A

56

54

52

50 A

—@— beg wc

0 10

20

30

40 50

50 A

00 -

50 A

00 -

50 A

o
—Q—
—Q—

postFgEtraw
postFgEtavg
postFgEt




FgDaily




| [
\ |

TN/
LA
VAW
V
'Y
ARV
S\
\
V

\

A
A
/

/’/%A
r i
L/
A
L
\ /
V
/T\
~\
Naa? N\

A
N/
Y/ N\ /]
N\

V
/\,_,,./\/
AN

// \\vﬁ ot
/
AN
e
V
[y
/
|
/:\/ :

0000000000000000000000000000000000000000
0000000000000000000000000000000000000
22222222222222222222222



ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

i i
ESo ETol

1 1
ETcl ETcldef ETcP ETcPT ETclis

1 1
ETbai  pR pVPD VN

1.0

0.8

0.6

0.4

-0.2

-0.0



700 - °
7 [ T1) ()
600 oS © 7 o oo °
7 LIPS TN &S i o °
> o - o %° e o o @ i .
- ° .00 . 000y, v ve ° 7 » ®
. 7 o0 ° o o
| ® ° o . i ® ®e 7 0:’0.3
° ° . °® oo T %o
b ° ® ® 7 o o ® ] °
| ® ° o . ® . i o ° o i ° °
® S 1 [ ° - ° °
) ° ® °
e ° . %o 1 °
o ®* ° ° o ]
° le ° ° ° [ ° o
o e &% ° ® °
© e ¢ o ‘e’ ° o ©°c¢ o ° 1 e
- ' . : d e @o °* Ve ° o0 ® °
1600 © ® ' ' ' T . o ¢ d o 1° [ ¢
® ° | ' ° °
o o ° e o | S ' ' ' . . ° % &
14004 @ .O. ° () ° Y ° T T : ®
% o ..'. _ ° e © 1 % ° % ° ' ' '
1200 [ X ) e O o (o2 _ ) (N ) ° ve [ Y ° - °
. ° o o 9 o ® - O
4 o %, O 7 ° ° ¢
S ® ® ) .. ® .: e® % o le .). ® o ....
2 1000 - T o, °O o ° % Mo ® oo % _ %
w ® o ° . @ ° ° °
v ® ° ) | ° (X} (] .z.o‘.
800 -+ ° ® 7] ° o i ™ i (‘, ’... ([ )
i ¢ ° ° ° o - o ©°
600 - ) ([ ° i S Y Py .
] ® [ T e
400 1 e ° 1 ° . ° - o
° .I r ] - ® (] ®
' ° i i ®
224{ ¢ ' — - ;
4 ° ' T T . e o e o 4
.‘. ® ® 7 Py I I ' T T °e
| o . I T T T
018 ¢ o o ® o 1 * °e 1° |
% ° ° ° . °
2" (@ °
18 - ..o ® el ° ¢ ® °
° ® o
- ° . ° 9 1e P
n® ° ° e % ° - o
164 ® ® ® ®e ® % og0 0
° ° ° e oo O
14 4 ° ° oo ® . ° «°
° i ° 1o » s ©
LIPS ° ° [ ] @ ° | oY
° ° o LIPS ° o o o
12 )
T T T . ( . ® ® (X
. ® 4
° . ' ' ) ° ¢
°
80 - ® | ) °
_. T T T . : _ , °
° ' ' .
70 - ® °
() . ) ( ] ® o
° 4
] ° °
60 oo °. o | ° % 4 2 o
¢ 0.0 0° o o o i °
o o o o o ° oo *
0] ® 3 AR . . ©
e © . (] o
° L - o ® ° ° °* . o °
20 ° ° o 0 o @ ° (R ®
404 ®® oo ° °® o ® o 9 °%e°
° i oS . ® oo%°
° o - o
T T : o ) Y ®
T T o (X ] ]
° T i ([ O. ®
800 o .° . ] o %
4 o : . o
° i ® ([ . T T r : :
600 - ° o — |
R . ®© o ° °
= . .0 %0 o o0 . o | °
> ® o, ° i (L Jd
400 4 o » Y .Q Y ® P .. a o
o S T [ .
) o ¢®
. ° e ., °° . 1 ] °° 8,
200 — ® e ) Y
S e ° ° °° o®® . | * °
@ 9 ° . * o ®°
0 e ° L o9 ° 00 1 ° ° ) .
4 @€ | | [ ... Y °® ° d o .. Y PY ° ® )
. : . | e® i o e ® o |o o e ® ° 1
400 - . l . : : | § e o ° L4 o ®
° (.. 7 .. I I T T °e ° .ej
00 " A . _ [ ] Py T
Y ° e0¢® e O o ¢ ° of ' ' .
3004 @ ° 0ef% %60 ¢ ° 4 o0 _ O 1 °
8 ® %o . N %, ‘,.).0."5 ® o 19 e0e ® @ % ¢ . o8 i
—250_. ° * ® .é. ® i cz: S o0 © “se _.‘.. y :.,. Y
° T ° ° <o i o g0
° ° i
200{® e ° ° .o 1. ° ° ° e e °8 i
4 " 3 ° . . o® | °
150 1 e o o ] . o o o ]
T oo i ®
100 T ® ° |
o i 4
50 - ° i 1 |
0 i ° | .
400 100 ' - * ° .
ETcl 0 12.5 I I T T
ETol 15.0 11- 5 20.0 22.5 4|o 6I0 l
I
RH 100
|




2000 - ® obs
Fit
1500 ~
1000 ~
%
!
500 - ’l
{
i
o
0 -
50 100 150
baiA baiB
0. 6684 0. 0254
1.0
0.8
0.6
0.4+
0.2 4
0.0 T T T
0.0 0.2 0.6 0.8

obs

800 ~

600 -

400 ~

200 -

Fit vs obs: a=1.12, b=-85.3

r=0. 88

1.0

400 600
Fit

800

0.8 -

0.6 1

0.4 -

0.2 -

0.0

0.0

0.4 0.6 0.8

1.




hour

100

7:55
80

9:00
10:35 60
11:50 40

13:05
20

14:25
1 1 1 1 _O

% & & B XS B




P3-2

Bjie) | EBEETIC (7)) | EBHE (BAH/#K) | XK ERE

07:55 226 120.0 5| TiHe07:55 REFEF (KREAERSE)
09:00 226 120.0 5| THA09:00 KENFERF (RF1EREEEE)
10:35 226 120.0 5| TiHEe10:35 RHEF (KREAERS)
11:50 226 120.0 5|  TiHEe11:50 REFEF (REAERSE)
13:05 226 120.0 | FiHfe13:05 REERF (KEERSR)
14:25 226 120.0 5| TiHe14:25 RHERF (REAERS)
Bt 1356.0 (6%) 720.0 32 KEC: 2080.0, PH: 6.0

REREBIEC (2575.0) HigZEEC (2000.0) REK K, HHE



FRV (ml plant-1)

ET (ml/hr/plant)

100

1.0
0.8
0.6
0.4
0.2

0.0
800
600
400

200

25
20

15

80

60

40

P3-2_0, Day=39 (2025-05-07)

- 2000
| Vi1, VO/¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
1400 - 1500 =
- ©
L 1000 E
i g0 11751 754 i
i - 500 -
| 00 00f|,
TargetEC=2600. 0,  TargetSetEC=2080. 0 t
TargetPH=6. 5, TargetSetPH=6.0 N
[ : 4
: L 1000 £
4 ByWoFv @DSP 02:38: ET=754 Fg=720.0 Ro=70.0 -g
| e & o >
1 E
) ! - 500
Ll
: g
o
0 | 1 | 2| 3 4] 5 [ 6] 78] 9 [10] 11 [12]13][14] 1516 ] 17 [ 18] 19 [ 20 ] 21 | 22 | 23
1B | B | B | KB || [ |K[K|K|K|KB|B|B|KE[F|KF[KF|[KB|KB|MB|MBH|KHE]|H
4 —_— | f

\

"PPFD_obs’] is missing

A\ varfing: feol

4

"To_obs'] is missing

T —

— RH

Warning: lcol ["RH obs’, ' RHo_obs'] is miss]

0.2 0.4

0.6

0.8

1.0



hour

100

8:20
9:20 80
10:40

- 60
11:55

- 40
13:05

15:30




P3-2

Byia) | EEBEETIC (7)) | EBE (BAH/HK) | XK R

08:20 278 120.0 & 1RiRe08:20 B (KREERE)
09:20 278 120.0 E BRi%@09:20 BE1 (RAERE)
10: 40 278 120.0 | FA| {Ri%e10:40 B (REAEER)
11:55 278 120.0 = RRiBe11:55 B3 (REAEEE)
13:05 278 120.0 E BRi&e13:05 Bz (GRAERERE)
14:10 278 120.0 | =| 1Rig@14:10 Bzh (GRABHERESE)
15:30 278 120.0 | =| 1Ri%e15:30 Bz (kAEREEE)
23t|1946.0 (70%) 840.0 3EHKEC: 2080.0, PH: 5.8

FEREHEBRE STEELRF (179.0

BRIASERRERE147. 0 ml.

147.0), AIEERT—@E XA H5
LORGEBIRTC (278) 574 (226. 0) A FF, AIREH T % @R #EiRS %2 XiEMT

BEREBIEC (2565.0) H5iZZEEC (2000.0) REIKK, BHHE




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-2_0, Day=38 (2025-05-06)

------------------------------------------------------------------------------------- L 2000
100 | V1. VO.FRV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET 1790
1400 1470 | 4500 =
e]
40 1000 £
50 80 >
330, 358 - 500 -
20 188 Warning: lcol [FVI',| "FVO’'] missing
04 r0
200 — ME $30
maxM
150 - 28
-------------------------- m|
100 - L 26 =
50 - 24
1.0 22
4
0. 8 A
0.6 -
0.4
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5. 8 N
0.6 -
0.4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit @D39 02:39: ET=1028 Fg=1040.0 Ro=39.0 2000 _
200 I t
| - 1500 =
! N
| —_—
£
100 ! I B . N ——8—8—8—8—8 | 0E
' H
! \ 500 5
I
0 - — T 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 9000
200 n|z=| B | B | B [ B | B | BB | B B 5 5 5 B 5 5 5 5 5 5 5 B 5 i~
. ] [
ByEt @D38 18:37: ET=966 Fg=1500.0 Ro=nan @ | © @ © & © - 1500 %
~N
| >
1 L E
100 - . —1H o—o—o—o 1000 .
1 L
\I\ ! 500 §
1 5}
I
0 2 ) — — i e — I 0
0 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 9000
200 Sn|Zn| BB | BB | B | =B | B | B | B ]| M 5 5 NERERERERERAER EAEANE 5 i~
. T [
ByWoFv @D39 02:39: ET=840 Fg=840.0 Ro=27.0 - 1500 %
~N
| —_—
1 - 1000 £
100 - i . —= & 8 8§ _
1 L
! \ 500 §
1 5}
I
1.0 ) — —— - — I 0
) 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0slZ2=|Z=|H | A | B [ | 5 [R5 [BE | B5 | FA 5 5 NERERERERERAERA EAEAR 5
0.6 -
0.4
0.2 A
0.0
1500 4 — | N
[ ] | _obs
1000 - —@— PPFD obs
500 -
0 A A
30 1 _— T 4
o T obs
20 o To_obs
10
4
80
60
RH
4041 @ RH_obs
(] RHo_obs




28.

28.

27.

27.

27.

27.

26.

29.

28.

28.

28.

28.

27.

27.

25 -

24

23 A

T T
800 1000

m=650,m FV0=0

T
600

25 A

00 -

75 -

50 A

25 -

00 ~

75 -

—&— M_E

T T
650 655 660

m=845,m FV0=0

00 ~

75 -

50 A

25 A

00 -

75 1

50 -

—o— M_E

m

8é0 865
m=475,m FV0=0

845

36

34 -

32 -

30 -

28 -

26 -

24

-— MW

i

475 480 485

m=475, FV0=0

25.0 A . M_E
24,5 A
24.0 A
23.5 A
T T T
475 480 485
m=690,m FV0=0
28.75 4
—&— M_E
28. 50 A
28. 25 A
28. 00
27.75 A
27. 50 A
27.25 45 ; ;
690 695 700
m=915,m FV0=0
29.0 A - M_E
28.5 ~
28.0 A
27.5 A
915 920 925
m=530,m FV0=0
36 - —— M_W
34 -
-9
32 ~
30
530 535 540

m=530, FV0=0

26.0

25.5 -

25.0

24.5 -

24.0

M_E

T
530

555 5&0
m=735,n FV0=0

28. 75 A

28. 50 ~

28. 25

28. 00

27.75

27. 50 A

—0—

M_E

7&0 7&5
m=995,n FV0=0

28.5

28.0

27.5 -

27.0 -

995

10b0 1065
m=595,n FV0=0

36

34

32 -

30 A

-— MW

595

600 605

m=595, FV0=0

27.5 A

27.0 A

26. 5

M_E

660 665
m=795,n FV0=0

28.5 A

28.0 A

27.5 A

800 805

36

34 -

32 A

30 -

28 -

26

M_W

24 -

600

860
m=650,n FV0=0

1000

36 -

34 -

32 -

30

——

M_W

650

655 660




m=690, FV0=0

—— MW
35 -
34 -
33 -
32 -
31 -
T T T
690 695 700
m=915,m FV0=0
—o— MW
34 -
32 -
30 -
T T
915 920 925

m=735, FV0=0

36

35 -

34

33 -

32 -

31

30 -

—0—

MW

T
735

T T
740 745

m=995,m FV0=0

33 A

32 A

31

30 -

—0—

M_W

T
995

T T
1000 1005

m=795, FV0=0
36
—— MW
34 -
32 -
30 -
T T T
795 800 805

m=845, FV0=0
34 . + M_W
33 -
32 A
31 -
30 A
T T T
845 850 855




100

80
- 60
§ 12:10
=
- 40
20
-0
/2
F R




P3-2

BfE] | FEBRETC (F)) | ERE (EH/HK) | XK R
12:10 278 120.0 [f&E/| 1Rig@12:10 Bz (REFERESE)
=21+ 278.0 (13%) 120.0 3ZHREC: 2080.0, PH: 5.8

FEREHEBRE STEELRF (179.0

BRIASERRERE147. 0 ml.

147.0), AIEERT—@E XA H5
LORGEBIRTC (278) 574 (226. 0) A FF, AIREH T % @R #EiRS %2 XiEMT

BERSEBIEC (2610.0) 5iZZEEC (2000.0) REIK K, BHHE




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-2_0, Day=37 (2025-05-05)

V1, V@RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

100 14500

50 64 1713

330, 3589
Warning: lcol [FVI',| "FVO’'] missing 20 07

200 4 ===y — ME $30
FRV

maxM
150 -

100 -

50 = —

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.8

Warning: lcol ['PHB’,| 'PHC’'] missing

Bylnit @D3

I
p 02:39: ET=779 Fg=720.0 Ro=24.0
i - 1000
200 - :
|
|
1
I
1
1

100 - - 500

308 3 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
B | BR[| BB | BA [ | M | M [ | BB | BA [ M | BA[BA | M | M [Mm | M| m|[/M ]| M| /[ ]|
I
1
I
|
|

- 1000
2001 ByEt @D37 18:36: ET=324 Fg=294.0 Ro=nan

100 - " - 500

\ 4 A 4 \ 4 4 *—-@ @ @ *—@

1
'_—.‘T‘ +‘ : : iy e — e N
B

308 3 1 2 [ 3T a5 67T 8T oJwoJirJi12]T1w@8[14a]1516 [ 171192 [21]2T7723
PR /e | BH [AiR] BA [ || f/Avil | [ Rema (B | BA [ B | BA | BA [ FH | BH | BA [ FH | BA | BH | FA

]
2001 ByWoFv @D39 02:39: ET=207 Fg=120.0 Ro=0

- 1000

100 - - 500

1.0 A

1]
s

PH v | BH [Ada| BA [ & [/e [/ e | /el | /e | Bem | PEm | B | BH [ BA [ BA [ BA [ BA | BA | BA | BH | B | A

0.8

0.6

0.4+

0.2~

0.0
1000 { —_— 4
o | _obs
—@— PPFD_obs

40 4 —— RH
o RH_obs

20 _ﬂ o RHo obs

0.6 ¢ .. e v {

0 2 4 6 8 10 12 14 16 18 20 22 24
hour

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



26.5

26.0

25.5

25.0 -

24.5

24.0

T
450

475 500
m=435,n FV0=0

T
525

34

32 -

30 -

28 -

26

—0—

M_W

435

440 445

m=435, FV0=0

26.0

25.5 A

25.0 -

24.5 -

24.0 A

—o—

M_E

T
435

T T
440 445

m=495,m FV0=0

36

35

34 -

33 A

32 -

31 -

—0—

M_W

T
495

T
500 505

m=495, FV0=0
26. 8 - M_E
26.6
26. 4
26. 2 1
26.0
T T T
495 500 505

36

34 -

32

30

28

26 -

—0— MW

T
425

T
450

T
475

m

T
500

T
525




hour

8:40

9:40

10:40

11:55

13:00

14:10

100




P3-2

BjiE) | EBEETIK (F)) | EBE (BAH/K) | XS ERE

08:40 234 110.0 |Z=| 1BRi%008:40 Bzh (KEERESE)
09:40 234 110.0 & =| 1Ri%@09:40 Bzh (KRABHEREEE)
10:40 234 110.0 (& =| 1BRiB@10:40 Bzh (REEREE)
11:55 234 110.0 E BRige11:55 Bzl (GRAEREE)
13:00 234 110.0 |Z=| {Rig013:00 Bzh (RE{ERSE)
14:10 234 110.0 | =| 1BRige14:10 Bzh (REAERESE)
Bt 1404.0 (6%) 660. 0 32 KEC: 2080.0, PH: 6.0

FEREHEBRE STEELRTF (151.0

BRIASERRERE122. 0 ml.

122.0), AIEERT—@E XAH5
EORGEBIRTC (234) 548 (212. 0) A FF, AlaEH T % @R #EiRS %2 XiER

large discrepency for begining water status (78:239.0), set to 78 ml.
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